



Addition and Subtraction of Fractions

Fill in the missing numerators, then solve the problem.

$$\frac{1}{3} + \frac{3}{4} = \frac{\quad}{12} + \frac{\quad}{12} = \frac{\quad}{12}$$

$$\frac{1}{9} + \frac{2}{3} = \frac{\quad}{9} + \frac{\quad}{9} = \frac{\quad}{9}$$

$$\frac{7}{9} - \frac{4}{6} = \frac{\quad}{18} - \frac{\quad}{18} = \frac{\quad}{18}$$

$$\frac{2}{4} - \frac{1}{8} = \frac{\quad}{8} - \frac{\quad}{8} = \frac{\quad}{8}$$

$$\frac{2}{6} + \frac{4}{5} = \frac{\quad}{30} + \frac{\quad}{30} = \frac{\quad}{30}$$

$$\frac{3}{6} + \frac{3}{9} = \frac{\quad}{18} + \frac{\quad}{18} = \frac{\quad}{18}$$

$$\frac{2}{3} - \frac{1}{4} = \frac{\quad}{12} - \frac{\quad}{12} = \frac{\quad}{12}$$

$$\frac{2}{4} - \frac{1}{9} = \frac{\quad}{36} - \frac{\quad}{36} = \frac{\quad}{36}$$

$$\frac{7}{9} + \frac{2}{8} = \frac{\quad}{72} + \frac{\quad}{72} = \frac{\quad}{72}$$

$$\frac{1}{2} + \frac{4}{5} = \frac{\quad}{10} + \frac{\quad}{10} = \frac{\quad}{10}$$

$$\frac{6}{8} - \frac{2}{6} = \frac{\quad}{24} - \frac{\quad}{24} = \frac{\quad}{24}$$

$$\frac{2}{3} - \frac{4}{9} = \frac{\quad}{9} - \frac{\quad}{9} = \frac{\quad}{9}$$

$$\frac{3}{8} + \frac{1}{2} = \frac{\quad}{8} + \frac{\quad}{8} = \frac{\quad}{8}$$

$$\frac{7}{8} + \frac{5}{6} = \frac{\quad}{24} + \frac{\quad}{24} = \frac{\quad}{24}$$

$$\frac{3}{4} - \frac{1}{2} = \frac{\quad}{4} - \frac{\quad}{4} = \frac{\quad}{4}$$

$$\frac{3}{5} - \frac{2}{6} = \frac{\quad}{30} - \frac{\quad}{30} = \frac{\quad}{30}$$